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QUESTION NO: 1

What two characteristics can be changed when using the CREATE TABLE AS (CTAS) statement to copy TableA to TableB? 
(Choose two.)

A. The views on TableA.

B. The privileges on TableA.

C. The distribution key of TableB.

D. The materialized views on TableB.

E. The order of the data stored in TableB.

ANSWER: C E 

QUESTION NO: 2

Within a single PureData System for Analytics, what is the fastest way to copy a 10TB TableA from DatabaseA to another 
DatabaseB?

A. Use the COPY command.

B. Use external tables and UNIX pipes.

C. Use nzbackup and nzrestore commands.

D. Use a CTAS (Create Table as Select) SQL statement.

ANSWER: D 

QUESTION NO: 3

Which two statistical data points are automatically updated when performing an INSERT on a table? (Choose two.)

A. The number of rows in the table.

B. The column histogram statistics.

C. The number of NULLs in each column.

D. The number of unique values in each column.

E. The minimum and maximum column value information (excluding text columns).

ANSWER: A E 
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QUESTION NO: 4

Why is table skew important to manage?

A. Low table skew negatively impacts performance.

B. High table skew negatively impacts performance.

C. Low table skew negatively impacts data compression.

D. Deleted rows consume disk space until they are freed.

ANSWER: B 

QUESTION NO: 5

When doing a CREATE SEQUENCE, the largest "maximum value" is based on what?

A. BIGINT

B. FLOAT8

C. NUMERIC(38,0)

D. VARCHAR(256)

ANSWER: A 

QUESTION NO: 6

A stored procedure returning one value is created, which two methods can be used to execute the procedure? (Choose two.)

A. Using the EXECUTE command.

B. Using the SELECT statement within a FROM clause.

C. Using the SELECT statement within a HAVING clause.

D. Using the SELECT statement without a FROM clause.

E. Using the SELECT statement with tables in the FROM clause.

ANSWER: A D 

QUESTION NO: 7

The primary copy of a dataslice is spread across how many disks?

A. 1.
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B. 2.

C. 4.

D. 12.

ANSWER: A 

QUESTION NO: 8

Which two commands can be used to shut the database system down? (Choose two.)

A. nzstop

B. nzdown

C. nzhw stop

D. nzsystem stop

E. service halt nps

ANSWER: A D 

QUESTION NO: 9

Which User Defined Function (UDF) statement is true?

A. It accepts zero or more input values but produces one output value.

B. It accepts exactly one input value and produces exactly one output value.

C. it accepts exactly one input value and produces one or more output values.

D. It accepts zero or more input values and produces one or more output values.

ANSWER: A 

QUESTION NO: 10

Which two statements are true about queries on the PureData System for Analytics Appliance? (Choose two.)

A. Queries are executed in parallel by the host.

B. Queries must be compressed before they can be executed.

C. Queries are compiled into snippets and executed in parallel by the S-Blades.

D. Queries must be uncompressed by the user and executed in parallel by the host.
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E. A query is compiled into a snippet which is executed across all available S-Blades.

ANSWER: C E 
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